
j8f g+= )% sf ljljw of]hgf tyf ljlgof]lht ah]6 cf= j= @)&$/&% 
 

qm= ;=  lzif{s  of]hgfsf] ljj/0f  ljlgof]lht ah]6 

1 

ef}lts k'jfwf{/ 

ljsf; ;DaGwL 

. 

s= dx]Gb« /fhdf{u b]vL o; j8f 

sfof{nosf] cuf8L k'j{tkm{ x'b} bIfL0f 

sf] d'nsf6f] sfn]kq] tyf bf]xf]/f] 

kSsL gfnL lgdf0f{ ug{ .  
               2,800,000  

v= k|utLgu/ 6f]ndf nD;fn dlGb/ 

hfg] af6f] u|fe]n ug{ .  

                  300,000  
u= cfjZos dfqfdf Xo'd kfO{kx? 

Vl/b ug{ sf]xnk'/ gkf ;+u /sd 

dfu ug]{ .                           -    
3= k[YjLgu/ 6f]ndf ;j} dfkb08 

k'u]sf leqL af6f]x?df .                   500,000  
ª= cGgk'0f{ 6f]ndf -;}lgs 6f]n ltnf 

k'gsf] 3/ tkm{ hfg] af6f]df ufe]n 

ug{ .                    200,000  
r= dgsfdgf rf]sb]vL pQ/ #))ld= 

u|fe]n ug{ .  

                  200,000  
5= /em]gf yf?ufFp jf8 g+= % 

cGtu{tsf af6fx?df u|fe]n ug{ .  
                 400,000  

h= >Lgu/ lgdk|sfz e08f/Lsf] 

3/b]vL bIfL0f tkm{ af6f] u|fe]n ug{ .  
                  100,000  

em=zflGtgu/ lkknaf]6 sf] pQ/, 

bIfL0f / kZrLd tkm{ %)–%)ld= 

af6f] u|fe]n ug{ .                    150,000  
~f= tf]nfsfGt Gof}kfg] sf] 3/ b]vL 

bIfL0f x'b} a/Lk/L bf]xf]/f] af6f]sf] 

u|fa]n ug{ .  
                  250,000  

6= lz4f{ygu/ 6f]n l;tf dNn sf] 

3/ b]lv k'j{sf] af6f] u|fe]n ug{ .  
                  100,000  

  

7= lz4fy{ cfwf/e't ljBfno dd{t 

Pj+ 3]/af/sf nfuL .  
                  300,000  



  

8= zfGtL lgs]tg k|f= lj= nfO{ ljB't 

h8fg tyf dd{t sfo{{ ug{ .  
                  200,000  

  

9= ;dk'/s -hu]8f sf]ifsf nfuL  

                 940,064  

  

0f= o; jf8{ g+= % k[YjLgu/ df ut 

cf= j= @)&#&$ df sfnf]kq] tyf 

kSsL gfnL lgdf{0f sfo{ sf] 

lg/Gt/tfsf nfuL ;f] af6f] jf8{ g=% 

sf] dfq ge} sf]= g= kf= jf8}  g+= 

!!,^,$ / ( sf hgtf ;d]t 

nfefGjLt x'g] b]lvosf]n] ;f] sfo{ ug{ 

.  
                  300,000  

    hDdf            6,740,064  
 


